TEST 1 - Zadání

1) operace s čísly:
  0,4 : 0,07 = (dvě des.č.)

2) Vrcholový úhel rovnoramenného trojúhelníku měří 37° 36'. Vypočti zbývající úhly.

3) n (36, 48)

4) D (32, 40)
NAVÍC:

  0,7 : 0,38 = (jedno des. č.)

TEST 1 - Řešení

1) operace s čísly:
  0,4 : 0,07 = (dvě des. č.)
0,4 : 0,07 = 5,71 (0,0003)
/ ∙ 100

40 : 7 = 5,71 (0,03)
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  0,7 : 0,38 = (jedno des. č.)

2) Vrcholový úhel rovnoramenného trojúhelníku měří 37° 36'. Vypočti zbývající úhly.




Úhly u základny měří 71° 12'.

3) n (36, 48)


36 = 2 ∙ 3 ∙ 2 ∙ 3


48 = 2 ∙ 3 ∙ 2 ∙ 2 ∙ 2 

48 ∙ 3 = 144

n (36, 48) = 144

4) D (32, 40)

32 = 2 ∙ 2 ∙ 2 ∙ 2 ∙ 2


40 = 5 ∙ 2 ∙ 2 ∙ 2 

2 ∙ 2 ∙ 2 = 8
D (32, 40) = 8
NAVÍC:

0,7 : 0,38 = (jedno des. č.)
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142° 24' : 2 = 71° 12' 
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